


Done in class



n =k+ n =k+2 n =k+1
H =k- 1

2d,,(k +1).kz" +20k+(k+2)(k+1)24+ZA+,+2 +Za,,2"
+29kz" =0

= [k(k + 1)9k+ 1
+(k +2)(k+1)9k+2

+(k+1)9k
+1
+9x

- ,

+9k]2* =0
=>Ak+2 =-Ak+)9k + 1

+ax- 1 +G()
(k+2)(k+1]

*Loeff.
AK+2 =A9,+1

+91- 1
+ax)

with

(k+2)(k+1)
negative
subscripts
are zero,

b) k=0,2 =- -a

y =40
+a,(X- 1) +( - q - )(x-1)2

y =ar(1 - I(x- 1)+...) +a,((x- 1)
- (X- 1)+...)



5)}>

I
&

⑳@°?)..⑤ >

Proof:Assume that y, and ye are solutions to " + P4' +94 =0.

Thatis, y." +Py: +94, =0 and Y' +Py +932
=0.

Show thatC,4, +(2Y: is also
a solution.

Observe that(94, +(9)" +P(94, +(y.) +9(94, +(rYz)

=C,4," +CY" +

C, Py, + C24! +997, +294

by nearranging
x =e,+99)

+((Y."+pyi +942)
-

above is true regardless" ofthevalues of C, and Cr.

Thus, C4, +CY is also a solution. D
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r=1i

u= -(dt = - (ot(e). sint) at Th =cx
+casin

=- (cost) at = -sin(t) +C,
W=1

v =(2dt =(cott).cos(t)dt=/dt

So, y
=T4, +VYC

-Isatatitre
=(-sin(t) +(.)(os(t) +(-(n(cs(+) +cot(t)) + (osst) + (2) sinst)

- y =- (n(sc(t) +(of(t)(sin(t) +(,cos(t) + (2 sinct)


